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Question 2 (Specialist Mathematics Examination 1) 
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Multiple-Choice Question 4 (Specialist Mathematics Examination 2) 
sin ? + @ = sin ? cos @ + cos ? sin @ 	 : 1 	
sin ? − @ = sin ? cos @ − cos ? sin @ 	 : 2 	
1 + 2 :	 sin ? + @ + sin ? − @ = 2sin ? cos @ 	
	 	 ∴ sin ? cos @ = 2CD
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Question 4 (Mathematical Methods Examination 1) 
a.	 	

	 	
	
b.	 By	observation,	the	average	value	is	1	
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Multiple-Choice Question 9 (Mathematical Methods Examination 2) 
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Multiple-Choice Question 5 in Matrices (Further Mathematics Examination 1) 
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Extended-Response Question 3c in Data Analysis (Further Mathematics Examination 2) 
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